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Kef

Precalc

Obj: To calculate the difference quotient
Hwk: 1.4C #79, 80, 82 - 86 all; Check answers!

Do Now:
Evaluate:
If f(x) = x*-4x + 7, find

a) f(2 +h)

(24h)*EG2+0) +7
(2+h) (2+h)-8~-4h +7
H44hrh?*-4h-I

h% +3

Recap:

1.4C

b) f(2) C) f(2+h}3-f(2)

(2)%-4(2)+7
4-8+7 =
~yt7 =

3

IMPLIED Domain not stated in problem:
e Polynomial: all real numbers (-ee,<e) or R
e Rational: (fraction): denom. z zero
e Radical: (EVEN roots): radicand is not NEGATIVE (20)
e Rational functions with radical denominators: radicand must

be POSITIVE (>0)

h2+3-3 o h*>.,

n h
h#o

Find the domain of each. Use interval notation when possible.

Ex. 3) f(x) =/x+4 < Pes

Xt+H =0
x =2-4
C-4,02)

X-220
X2

L2,5) v(s,m»)
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Ex. 4) g(x) = Jx -2 < PoS.

x2-25 « #©
X*-25=0
(X45)(A-S) =O
XZ2-5 X#§5



In Do Now, you found the Difference Quotient:

Difference Quotient: f&x+ h}z “f) o

*Remember, this is used in calculus! It finds the slope of the
secant line joining the points (x, f(x)) and (x + h, f(x + h)) on
the graph of function f; aka "average rate of change”
between the 2 pts

X
Average rate of change = slope of PQ

Ex. 1) If f(x) = x°* - 9 find the difference quotient
f(x+h)-f() o

h
£(x+h)= (X+h)*-9 £(x) = X?%-9

= (X+h)(X+N) -9
= X%24+2%¥Xh4+h?* -9

Diff. GuoBenT! X+ 2Xh +h2-4E(X2-4) _  2xn +h2
h - h

= )ﬂ_?-Txki:")) = | 2¥4+h
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Ex. 2) If g(x) = 4x? - 2x, find 92 * 1) -

4 (240) *ED(3+h)

= 4 (2+4h)(2+h) -4 -2 h
=4 (44 8n+h?) -H-2h
= 1W+ILh +Hh*-4-2h
=2 Y4 h2+414h + 12

g(2+4h) =

Avef. QuoRent ! Hh*+14dh + 12 —12
h

-

9(2),h¢0

gl2) = 4(2)%-2¢(2)
4(q) -4
-y

12

Hh? 4 14h
) h

=l “m-l-l‘/)
B

= “'lh + 14
h#o
Things to go over after Summ (yc,)‘\smg ent/Prerequisite Skills

Assessment:

d,q\

(*-2

}/“2 (x-"l)[}':)

1. Solve: B
(%4)(»%2) ¥4 p2
2= x-2 + :z(x-q)
2= X-242X-8
2= 3X-)10
12 = 3X )(:}qj-;_
X9 NO SocuTram
. )
2. Solve? g(x—l) o1 n’\3'10 (12)
A Kl
Sf’f-\‘u’)-«- 3X = 120
8X-8 +3X =120
nNYX-8 = (20
WY = 12% X = 1_'2__8
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3. Solve: 3x*> —14x =5
3X*-)4X-5 =0
(3x+1) (x~-5) =

3X+| =0 X=5 =
33X =~| X=s
X""'/jl

4. Complete the square & solve:

a. x*+12x+25=0 b. 4x%+16x+9=0
X2+12xy 3= -25+38 | gxz4px = -9
2 4 (X2 + 9x+ L)=-2+%
JCX+e)d* =\ (z)*
x+¢ = = U7 ‘7’(X+2) ._?

=~ 20| (/(X-rz)‘ =r

X+2=:z-..;-

- - Jz
X 2:}.-_22_
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